Macroeconometrics I - Exercises

1. Why is it important to test whether the time series used in a modelling exercise are
stationary?

2. Show that the AR(1) process,
Y = ay_1 +uy,  with ug ~ iid(0, %) and yy constant,
is weakly stationary when || < 1 and nonstationary when o = 1.
3. Show that the process,

Y =p+ Pt +
U = QUp_1 + Vg

can be rewritten as,

Ay = (@ — Dy + (u(1 — ) + aB) + (1 — ) Bt + v,

4. A macroeconomist considered the following model for log US GDP,

A(L) (yt — (50 — 51t) = €¢

where A(L) = 1 — ay;L — apL? and ¢; ~ id(0,0?%). OLS estimation of this model
gives,
Yy = —0.321 + 0.003¢ + 1.335y, 1 — 0.401y; o + 1y

a) Determine the values of ay, asg, g and 9.
b) What is the value of A(1) and what may this indicate?

5. Consider the two processes,
Yt :Oé(]‘l‘alt‘l‘gt

and
Ty = (50 + X1+ U

where ¢; « 4id(0, 02) and u; « iid(0, 02). Indicate whether y; and z; are stationary
and justify your answer.

6. Consider the process,
Y =0+ Y1 +e (1)

where &; ~ iid(0, 0?) and yy constant. Indicate what type of DF test regression you
would use if you suspected that your data had been generated by (1) and state the
corresponding null and alternative hypotheses.



7. Consider the AR(3),
Yy = QqlYi—1 + QY2 + Q3Yr—3 + & (2)
with yo # 0 and &; ~ 7id(0, 02).

a) Assuming that this process may have at most one unit root, what DF type test
regression would you use and why?

b) In case there is a unit root in this process what restriction would it impose on
the autoregressive parameters?

8. Consider the following estimated models,

ye= 033 + 0.01t+ 081y, + 181Ayt - 161Ayt )
(0.198) (0.085) (0.019) (0.2 (0.3

and

A.Tt—021—0731’t 1+ 155A.§L’t 1 — 171A.§L’t 2+ O71ASL} 3.
(0.29)  (0.90) (0.324) (0.6

The numbers in brackets are the corresponding standard errors.

a) Indicate the objective of estimating these regressions.

b) What can you conclude from their analysis?

9. Assuming that you want to evaluate the behaviour of an economic time series with
250 observations, indicate which of the following models you would choose and why?
What do you conclude with respect to the stationarity properties of the series under
analysis?

i)Ac; = 4.30 + 0.25t + 0.52 ¢, L+ 2220000+ 09600 + 1320¢ (3)
(805)  (205)  (~2.55) (80 (0.9 (10

LM, =2.35; LMy =4.35

ii)Ac, = 4.15 + 0.28¢ + 0,61 i1 + 262011 + 156A¢; (4)
(3.23)  (2.15) (—2.58) (3.1

LM, =2.75; LM;=4.95

m)Act =450+ 0.5t + 0.70 ¢;_1 + 2. 91Act 1 (5)
(35)  (25)  (—2.60) (3.5

LM, =3.90; LMy =6.20
Note: LM, and LM, are first and second order autocorrelation tests.

10. Consider the following two estimated models for US GDP for the period 1950-1970,

Ayt = 1.654 + 0.0134¢t — 0.374y, 1 + O 052Ayt 1
(0.837)  (0.007) (0.196)

and

Ayt = 1.574 4 0.0127t — 0.3551; 1.
(0.705)  (0.006) (0.165)

Note: The values in brackets correspond to the standard errors.
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11.

a) Indicate which of the two DF test regressions you would use.

b) What can you conclude with respect to the stationarity of GDP?

Consider the following model,

Yy = a+ bxy + ¢ (6)

where y; and x; are economic time series. Assuming that the following regression
was estimated,

Aé\t — —0.421/6\,5_1 - 0277A/ét_1 (7)
(—2.46) (—1.87)

using the residuals obtained from (6), indicate:
What is the objective of using a test regression as in (7)7

Given that the values in brackets in (7) correspond to the t-tests and that the
critical value for the t — test of the estimated parameter of ¢;_; is (-3.46) what can
you conclude.



